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0 Z3H EHeXl & AAE RRIE
600,000 * 200H2 12,000
0 23 =S|AIAE SN2+
400,000& * 102 * 102l 4,000
0 JI0F2etdE el 2= 10,000
202 Oid| 5,400 5,400 0
01 3L 5,400 5,400 0
0 =LHObI 5,400




2A:
X XH -
o=

=oak

S3HM=1
ZSHH
S22l

S - B

- SRA(3) - MIFA -

Ofl &4

SET
Ofl &koK

307 212401

10,500

10,500

10,500
10,500

10,500

S

A

30,000

21,000
2,700
6,300

30,000

S

H

30,000

21,000
2,700
6,300

30,000

0 =Jt2SH SIHAIE [AZel XISA

2,500,000& » 12&

S

M H

30,000

30,000
21,000
2,700
6,300

30,000

HH W

98,000

68,600
14,700
14,700

91,000

7,000

401 AIEHIZL 20|

H

98,000

68,600
14,700
14,700

91,000

7,000

01 Al&H|

0 ot=SE8 ALRMHESYE &M € d=S8F)
A 19,60 *

Oft

Mo

98,000

98,000
68,600
14,700
14,700

91,000

7,000

M H

11,000

7,700
1,650
1,650

11,000

401 AIEHIZL 20|

M

11,000

7,700
1,650
1,650

11,000

01 Al&HI

0 ot=58 ALIR E=XISAY

(2LIEIE 1,200,0002 * 73l) +

HH

11,000

11,000

7,700
1,650
1,650

11,000




2A:
X XH -
[l B

=oak

S3HM=1
ZSHH
S22l

S - B

- E2I(BIH) - KISAKES -

Ofl &4

SET
Ofl &koK

2VINE 23 2FbI(ots 228 235)

Mo A

8,000

5,600
1,200
1,200

8,000

401 AIEHIZL 20|

M H

8,000

5,600
1,200
1,200

8,000

01 Al&H|

0 ots EX2l 25 2x=XISAE
(Z2LIEE 1,000,000& * 531) + (ZAl 1,000,
000& * 33l)

M H

8,000

8,000

5,600
1,200
1,200

8,000

i

2IXH2HH ESFH|(AHAIHSE =21HHI)

Mo

200,000

140,000
30,000
30,000

500,000

/300,000

402 RIZHA=01A

Mo

200,000

140,000
30,000
30,000

480,000

/280,000

0 ol HHAL IS =8 BHOIA XISBi2t 2

=AY 2,000,000& = 100m’

HH W

200,000

200,000
140,000
30,000
30,000

480,000

/280,000

HH

9,240

6,468
970
1,802

9,240

201 fek=dy

400

400

01 At
0

200,000& * 29K

400

400

400

401 AlZHIZ SO

HH

8,840

6,468
970
1,402

8,840

01 AlZHI

0 23t e ME £X
4,420,000 * 2JH2A

HH

8,840

8,840

6,468
970

8,840




A SIS
= 23

=?el: 23 2 (9 &)
- _ — &
SA - BB S9I(3) - KIRAY - BAS 0f v e HIDSZ
CXE2a CHAE YA 69,301 0 69,301
= 20,790
= 16,979
[Ea 31,532
201 Ler2g| 3,000 0 3,000
01 A2l 3,000 0 3,000
0 23HH CHHEH SOIES & A4
00,0002 » 15J44 3,000
401 AlZHIZ SO 66,301 0 66,301
= 20,790
& 16,979
[Ea 28,532
01 Al&H| 66,301 0 66,301
0 St e M= £X
4,420,086 * 1504 66,301
= 20,790
& 16,979
T 28,532
2VNE 2 E+=ZH|(StsS84 2+&HI) 47,000 837,500 AT90,500
= 31,500
= 6,750
= 8,750
401 AIZHIZ S0 47,000 837,500 AT790,500
= 31,500
= 6,750
o 8,750
01 Al&H| 45,000 808,500 AT763,500
0 St=E4 2+FHI(=IFHI)AIY
10,000& * 4,500m 45,000
= 31,500
< 6,750
= 6,750
03 A& 0y 2,000 2,000 0
0 dts=d 288 A&FUH
2,000,000& *» 14| 2,000
M2 A 60,000 50,000 10,000
= 24,000
< 6,000
T 30,000
307 g1zl 60,000 50,000 10,000
= 24,000
= 6,000
o 30,000
02 2IZHE AR X 60,000 50,000 10,000
0 MBS AtH(StEE4 S)
60,000,000& = 14| 60,000
= 24,000




2A:

X ZH:

S3HM=1
ZSHH

telr 23HH 22 (e &)
= - - PalE]
S - B - S9(3H) - NRAY - BES o8y e HimEE)
< 6,000
i 30,000
SUANRAZMN ESAY 80,000 80,000 0
= 32,000
L= 8,000
s 40,000
307 g12+o|& 80,000 80,000 0
= 32,000
< 8,000
i 40,000
02 QIZHHAAIIE X 80,000 80,000 0
0 SRAMII2S SSAt (Gl w)
80,000,000& 14l 80,000
= 32,000
L= 8,000
s 40,000
2OHNE 2 E+THl(otsS4 €22 &) 250,000 314,271 264,271
= 175,000
= 37,500
i 37,500
AEHIZL RO 250,000 314,271 264,271
= 175,000
= 37,500
i 37,500
01 Al&HI 242,500 299,271 NG, 771
0 ol=S4 E2Z ZHIAE
2,425,000& = 100m 242,500
= 169,750
= 36,375
s 36,375
02 Zeldl 7,500 15,000 A7,500
0 ol=S4 EZZ EHl 2elE3
7,500,000& * 14 7,500
= 5,250
L= 1,125
= 1,125
ZIIRE2M HSI=8S B/ S WA 768,000 0 768,000
= 384,000
s 384,000
401 AIEHIZL 201 768,000 0 768,000
= 384,000
s 384,000
01 Al&Hl 768,000 0 768,000
0 2IRE RS H=F LM (AS) ALY
768,000,000& * 14 768,000
= 384,000
[iss 384,000
2IHIE 2SN ETHI(AAAMHSTH2AZTOIAIL) 30,000 0 30,000




2A:

S3HM=1

0
I

0
I

= 23
cel: 23 22 (=l &)
= - - PalE]
S - B - S9(3H) - NRAY - BES o8y e HimEE)
= 21,000
L= 4,500
= 4,500
402 212ERH201 M 30,000 0 30,000
= 21,000
< 4,500
= 4,500
02 QIR AT 22 (01X THA) 30,000 0 30,000
0 BAHAN IS = &IIX S XA
30,000,000& = 14 30,000
= 21,000
L= 4,500
= 4,500
NEISIL SSAY 50,000 0 50,000
= 20,000
< 5,000
i 25,000
307 e12+ol& 50,000 0 50,000
= 20,000
< 5,000
i 25,000
02 QIZHHAMAIIE XS 50,000 0 50,000
0 D& 2 B 2=SAMY 50,000,000& 14 50,000
= 20,000
L= 5,000
[ias 25,000
s gs 843t 11,826,972 11,068,646 758,326
s 100,000
Il 2,861,778
L= 1,058,698
= 7,806,496
2= 243t 1,351,593 870,841 480,752
tHal & &Kz =Xl 43,800 31,800 12,000
201 B2 6,400 6,400 0
01 AtR2teltl 6,400 6,400 0
0 LEt==2H| 6,400
o ANRES FE 250,000& = 128 3,000
o MAMARE 1Y 500,000& = 53| 2,500
o EEE =L A 60,0002 * 1504 900
203 HRF4| 5,400 5,400 0
03 AR F=R AR Z=LY| 5,400 5,400 0
0 dXl=¢ € HalsXl 5,400
307 g12+o|& 32,000 20,000 12,000
02 QIZHEAAEE X 32,000 20,000 12,000
0 &= &zl SiEH & dXEdE & 32,000




2A:
X XH -
o=

=oak

S3HM=1

H
o

S 2= 245

=

=Hs 2435t

oy

dET

S - EB - ERI(SH) - MIRA - BES o8y e bl DS

St=2HSs XY 278,256 228,321 49,985
307 QI2¢0IH 278,256 228,321 49,985
02 BIRAIBMAAE R 44,000 20,500 23,500

0 I |4 X 44,000
03 PRI R SYH|I 28X 234,256 207,821 26,435

0 Gt=E2HSE 2% BX 234,256
HS 28X 30,320 15,320 15,000
201 Ypr2 | 24,920 9,920 15,000
01 AfR2tei 8,920 8,920 0

0 Ypr+EH| 8,920

o HUADE 9 500,0008! * 63l 3,000

o AREZ 7Y 5,920
02 22| 16,000 1,000 15,000

0 AIEZHIRAIYI 1,000

0 & IR U= 15,000
202 Oit| 5,400 5,400 0
01 2Uoit] 5,400 5,400 0

0 201t 150,008 * 3% * 12 5,400
SNAE S4 147,500 130,800 16,700
307 QI2¢0IH 147,500 130,800 16,700
02 DIZIAAAIR B E 147,500 130,800 16,700

0 GISZstn HIPE 2SN 105,500

0 SOMA EJIEtn XSERKS 5,000

0 25017 7 BX(2ED) 8,000

0 SNASEY 28 L EHSX 22,000

0 By X S8t S &M BF 7,000
HABRE QIMEISXIR 10,000 10,000 0
401 Al&HI 204 10,000 10,000 0
01 Al&H 10,000 10,000 0

0 HPRE BIETH HHIAY 10,000
ALYMBTSHE S8 Y X2 84,467 77,400 7,067
307 QI2¢0IH 84,467 77,400 7,067
02 DIZIAAAIR B E 84,467 77,400 7,067

0 FLMBSUHE & 24| XY 84,467
SOIRKHEI M| XY 198,650 143,200 55,450
307 QI2+0|H 198,650 143,200 55,450
02 BIIZMAIA B X 198,650 143,200 55,450

0 TOXIKHS &It2H N 198,650




A 2atds1
M M= gs g4d:

=

tel: dEMS 2H3

oy

dET

SN - BB - B9I(31) - HIRAY - BAS o8y e HlZE2

&= & EH2 tsl&8dl X 480,900 75,000 405,900
307 g12+o|& 480,900 75,000 405,900
02 QIZHHAAIIE LR 200,900 75,000 125,900

0 8= & EHe =izl X 200,900
04 QIZIHAIAIHEE X 280,000 0 280,000

0 8= MEH=0a ZHIXZ 280,000
0S4 =EUE XE 12,700 8,000 4,700
307 gI2tol& 12,700 8,000 4,700
02 QIZHHAAIIE XS 12,700 8,000 4,700

0 BY0=MM=UEl 2l X 12,700
ZOHIM=sal XA 7,000 7,000 0
307 g12+o|& 7,000 7,000 0
02 QIZHE&AHEE X 7,000 7,000 0

0 ZoHelM=tz &Hl X 7,000
cEel dEHSUE XY 18,000 54,000 236,000
307 e12+ol& 18,000 54,000 236,000
02 QIZHHAMAIIE XS 18,000 54,000 236,000

0 22l M=z XF 18,000
&8 ZZ0ietEMs X 40,000 40,000 0
307 gIztol& 40,000 40,000 0
04 QIZHHAAIE B = 40,000 40,000 0

0 d&Z 220Eds X 40,000
MEH = St 765,379 600,430 164,949

| 261,778

L= 20,698

s 482,903
MEHIEEZZ2 I 29 12,100 12,100 0

L= 3,630

i 8,470
307 g12+o|& 12,100 12,100 0

< 3,630

i 8,470
04 QIZIHAIAIEE X 12,100 12,100 0

0 daxs Z208 29 12,100

L= 3,630

i 8,470
H2dM=sas XE 207,489 222,548 15,059

J| 103,744

= 103,745
307 g12+o|& 207,489 222,548 A15,059

| 103,744




2N 2
Zo:

=oak

=
i
0z
ol
o
B
]
0

SN - ZE - SI(3) - HIRAY - BES ol &t o mE=S

M

103,745

02 QIZHH A2 X 207,489 222,548 215,059
0 OS2 EEUEHF A=At 207,489

Il 103,744
[ia 103,745

LM HEMSXE=A X2 209,670 222,548 A12,878

Il 104,834
[ia 104,836

307 212+0I1A 209,670 222,548 N12,878

Il 104,834
T 104,836

02 QIZHH AN 2 X 209,670 222,548 A12,878

0 &8t MEMs XISAH BHXIAIS 207,489
Il 103,744
[ia 103,745
0 MEMSANELN N2s 282 2,181
1,090
1,091

H X

HEWFSWA2S 9,660 9,660 0

2,898
6,762

M

307 212+0I1A 9,660 9,660 0

2,898
6,762

H

04 QIZHHAAIE B = 9,660 9,660 0
0 M= wazd 9,660

2,898
6,762

M

MEH=SUH IS4 8,000 8,000 0

4,000
4,000

M

307 212+01A 8,000 8,000 0

4,000
4,000

H

04 QIZHHAAIE B = 8,000 8,000 0
0 024 dEHs |4 8,000

4,000
4,000

M

AREAUL OIS 2ALSE 76,000 42,880 33,120

53,200
6,840
15,960

S

M

301 LE2dS 76,000 42,880 33,120

53,200
6,840
15,960

S

O




A 2edEH
3 HE gs 483
ol dEHE 245 (9 &)
SA - B - BRIEH) - AIRAY - BaS of v o HI D2
01 AtSI2E A =36IS 76,000 42,880 33,120
0 AEX 2%} 0|2 Al 76,000
7l 53,200
= 6,840
2 15,960
iR M=s0tel XA 6,660 7,094 N34
= 3,330
o 3,330
307 elztol ™ 6,660 7,004 A434
= 3,330
2 3,330
02 QB HAIEE X 6,660 7,004 A434
0 02! M=s0tel XA2AE 6,660
= 3,330
2 3,330
HOIEEE 2| 15,600 15,600 0
307 @lZtold 15,600 15,600 0
03 QIZIHAEIE2EHIEx 15,600 15,600 0
0 HIOIE=E =2&H| 15,600
dsHdEN U213 6,500 2,000 4,500
307 elztol ™ 6,500 2,000 4,500
02 QB HAIEE xR 6,500 0 6,500
0 58 d=HMs Ul 6,500
Zoiel MEsts2xd| 5,000 2,500 2,500
307 2lZhold 5,000 2,500 2,500
02 QIFAMSES 5,000 0 5,000
0 0 HM=2s 2234| 5,000
HOIEEU SHEH| 22X 15,000 3,000 12,000
307 2lZtold 15,000 3,000 12,000
02 QIIFAMSES 15,000 0 15,000
0 JIOIEZS & 222 0s 83| 15,000
HEHE g4t X2 15,000 10,500 4,500
307 g1zl 15,000 10,500 4,500
02 QB HAIEE xR 15,000 0 15,000
0 2= 2datkz 15,000
lek2t =21 24| 5,000 5,000 0
307 2lZhold 5,000 5,000 0
03 QIZIHAEIEE2EHIEx 5,000 5,000 0
0 Jet2t =2& 24| 5,000
ot HOIEZS HEsl ARA 2 5,000 5,000 0




A SRS
M M= s 248t
el MEx=s 2dst (=l &)
SN - ZE - SI(3) - HIRAY - BES ol &t o mE=S
307 g12+o|& 5,000 5,000 0
03 2IZHEHHBEE 22X 5,000 5,000 0
0 ot== HIOIESHES AR 23| 5,000
orel2sJI+ XA 100,000 20,000 80,000
401 AIEHIZL 201 100,000 20,000 80,000
01 Al&Hl 100,000 20,000 80,000
0 OFI23017 EXIAE 100,000
goliet g3 MENSLE HEM 8,700 7,000 1,700
307 g12+ol& 8,700 7,000 1,700
02 QIZHHAAIIE XS 8,700 0 8,700
0 goliotedEd dEdsusE s 8,700
Ia==% 29| 5,000 5,000 0
307 g12+o|& 5,000 5,000 0
03 2IZHEHHBEE 22X 5,000 5,000 0
0 II3==% 2| 5,000
SINAE (S ES) BSAX=SY 22| 20,000 0 20,000
307 e12+ol& 20,000 0 20,000
02 BIMBAAAE S 20,000 0 20,000
0 B3AE=Z2H 29| 20,000
=3 “=XH DMK 35,000 0 35,000
402 212EXHE0(1 M 35,000 0 35,000
01 Q2R A B2 (KHMITHE) 35,000 0 35,000
0 M=2l ==& WA
35,000,000& = 1CH 35,000
MEISAY &5 9,710,000 9,597,375 112,625
s 100,000
J| 2,600,000
< 1,038,000
i 5,972,000
& IS0 F ZAAMY 350,000 0 350,000
401 A ZHIZLSOHY] 350,000 0 350,000
01 Al&Hl 350,000 0 350,000
0 & 322 Z&AY 350,000
StSAE=IMALSAS 1,355,000 4,353,000 22,998,000
401 A ZHIZLSOHY] 1,355,000 4,353,000 22,998,000
01 Al&HI 1,200,000 4,348,000 A3, 148,000
0 ots AE=OT ZAAS 1,200,000
02 Zeldl 150,000 0 150,000
0 ots AE=I3T LAY 2eldl 150,000




LA 2SS
I XS 25 243
el METISAIY 3 (S &)
= _ — A L=
SN - ZE - SI(3) - HIRAY - BES ol &t o mE=S
03 Al =0t 5,000 5,000 0
0 5t AZXIE 4 AIMLY] 5,000
SHMEH ST ALINLAIY 490,000 90.000 400,000
401 AIEHIZ 2 OHHI 490,000 90,000 400,000
01 Al&HI 490,000 90,000 400,000
0 MEHST AlENEAIY 120,000
0 2Z USTMEI=SHE 22IS ALY 120,000
0 MIRARCBTE FHEH|AY 100,000
0 BNI2IRE3TH FHA 150,000
HHCH| RISHIE A-ANYS 3,765,000 2,800,000 965,000
Jl 1,000,000
=3 750,000
2 2,015,000
401 AIEHIZ 2 CHHI 3,765,000 2,800,000 965,000
Jl 1,000,000
== 750,000
= 2,015,000
01 Al&HI 3,760,000 2,800,000 960,000
0 SHCH| XISHE! AZAIY 3,760,000
Jl 1,000,000
=3 750,000
2 2,010,000
03 Al&=CH| 5,000 0 5,000
0 BHCH| XISHE! A>AIS AIZROHI 5,000
U MEYSTE B2 ZLAMY 20,000 70,000 A50,000
< 8,000
2 12,000
401 AIEHIZ SR 20,000 0 20,000
< 8,000
z 12,000
01 Al&HI 20,000 0 20,000
0 YT M ST 2L TLAY 20,000
< 8,000
2 12,000
BN OISR XS AL 1,740,000 460,000 1,280,000
7l 800,000
=3 140,000
2 800,000
401 AIEHIZ 2 OHHI 1,740,000 460,000 1,280,000
7l 800,000
=3 140,000
2 800,000
01 Al&H] 1,740,000 460,000 1,280,000
0 3K CI=X HSZ HYAIY 1,740,000




2A:

N XH -
o=

Chel: M= o = (Sl &)
= - - PalE]
S - B - S9(3H) - NRAY - BES o8y e HimEE)
Il 800,000
L= 140,000
i 800,000
A MESEE HSAIE 250,000 0 250,000
s 100,000
s 150,000
401 AIEHIZL 201 250,000 0 250,000
s 100,000
i 150,000
01 Al&Hl 250,000 0 250,000
0 MDMASZE A A 250,000
s 100,000
i 150,000
ots AL HILIAZ A A 1,740,000 460,000 1,280,000
J| 800,000
= 140,000
i 800,000
401 Al ZHIZLSOHY] 1,740,000 460,000 1,280,000
| 800,000
= 140,000
i 800,000
01 Al&Hl 1,740,000 460,000 1,280,000
0 o= AUl HILIAE HEAS 1,740,000
J| 800,000
L= 140,000
[ias 800,000
S 2F 2 715,382 367,225 348,157
ZSAES R A2 715,382 367,225 348,157
old= st 24 100,000 55,000 45,000
307 gI2tol& 50,000 50,000 0
05 2IZtRE = 50,000 50,000 0
0 OIEE 28R 9l 2 50,000
401 A ZHIZLSOHY] 50,000 5,000 45,000
01 Al&HI 50,000 5,000 45,000
0 Olg= 22 AME 2 50,000
o e € HY 2=+ 30,000,000& = 14 30,000
o 29 CMIAL 20,000,000& = 14 20,000
ZSAIE 2el2E 125,782 109,845 15,937
101 @124d| 61,632 45,695 15,937
04 JIZtH2Z2 R EE = 61,632 45,695 15,937
0 Ssttil=sl2 A L AR 212 61,632
o JlE2g 73,2803 * 2% x 247 36,201
o =Xt 73,2808 * 2% » 52 7,622




A SIS
T RIAE2Z 2

&2 2stNdES 72l (=l &)
SN - ZE - SI(3) - HIRAY - BES ol &t o mE=S
o ANREsLry 73,2803 » 2% « 11¢ 1,613
o FYGH 73,2803 * 1.5 = 2 » 52 11,432
o FaFdsE
73,280% * 2.5 » 2% » 13 4,764
201 B3| 61,250 61,250 0
02 3524l 61,250 61,250 0
0 Zstoll=sgl& A= 26,250
o RELY 21,250
o g SR 5,000
(OPNE=FS{=IE=IN]s]l 35,000
o 2=z HA8Y
2,500,000& * 43| 10,000
o otx || 1,000,002 * 128 12,000
o 2oIFHIZAH| 5,000
o ARBAIENES(SEHME X|2|AAAL
2) 4,000,000 * 2JH2 8,000
203 HRF4| 900 900 0
03 AR F=R AR Z=EAY| 900 900 0
0 St &el2E 900
206 M=4| 2,000 2,000 0
01 M=Hl 2,000 2,000 0
0 Zslil=3l2t S4ZE e 7Y
500,000& = 43| 2,000
Zatli=sl2t AIEH. B 300,000 30,000 270,000
401 A ZHIZLSOHY] 300,000 30,000 270,000
01 Al&HI 300,000 30,000 270,000
0 3% & FJIHEEH 20,000
o HUANFHZ 15,000,000& = 13] 15,000
o It EH 5,000,000& * 13 5,000
0 S30l=sl2 “2AIE HE+ 280,000
o Satet=ZA 50,000,000& = 14 50,000
o Al LEDS wXHl 20,000,000& = 14 20,000
o AIR4 2 WHI(200H) 10,000
o OtEZdel Ald B 200,000
ANdazte] 2R3 44,000 46,780 A2,780
201 B3| 44,000 46,780 A2,780
02 Z3=24H| 44,000 40,000 4,000
0 MJe= 2 MAMsSL=s 44,000
o M2 L MASUH2(2stu=s2 2
40HA) 44,000
grdel E8 29 70,000 50,000 20,000




A SIS
T RIAE2Z 2

=Hel: 2EERA2

= - - PalE]
S - B - S9(3H) - NRAY - BES o8y e HimEE)
201 B2 40,000 40,000 0
01 AtR2teltl 40,000 40,000 0
0 2fdel &t 2E= MEZ K=
20,000,000& * 22l 40,000
401 AIEHIZL 201 30,000 10,000 20,000
01 Al&Hl 30,000 10,000 20,000
0 =& 22 IS 12| 30,000
2TA ot dek2t Ald2te| 29 75,600 75,600 0
201 LeH2E| 75,600 75,600 0
02 2324| 75,600 75,600 0
0 382= ¥ MAl 42,000
o M3 3,000,000& = 12& 36,000
o Mol+=E 23 400,000 * 123 4,800
o SRS 100,000& = 12& 1,200
0 Al&EHl KXY 33,600
o CCTV SAI2el 400,000& * 12& 4,800
o SOIAHIAAE =2  900,000& » 12& 10,800
o Z2)| etdze| e =2
500,000& = 12& 6,000
o ABIMJIOtM | CHE =2
1,000,000& = 12& 12,000
HsAld2el 3,197,627 3,531,520 A333,893
s 200,000
J| 120,000
= 2,877,627
HEALES FX2 3,197,627 3,531,520 333,893
s 200,000
| 120,000
i 2,877,627
HsAlE2e| 23 1,052,453 319,392 733,061
101 @124d| 103,453 43,392 60,061
04 JIZtHI2 2 EE = 103,453 43,392 60,061
0 M=AlE Q2 25,101
SPl== 73,2803 * 198 » 247 18,101
o FRdsld 73,2803 * 198 » 52 3,811
o ANraEsgdsd 73,2803 + 1FH « 11 807
o Rasdsd
73,280& * 2.5 » 1&H » 13& 2,382
0 MSAIE =R (BL2sE, Jet2E2
%) 55,708
e Jleg 76,5603 * 1Y * 247 18,911
o FAI2I2LE
76,560& * 1.5 » 1H » 115 13,207




A SIS
FH: H=sAE2

&2 MSsAIEdE |X2 (e &)
= - - PalE]
S - B - S9(3H) - NRAY - BES o8y e HimEE)
o J|Z=E 19,140,000& = 1/3 6,380
o FRdsld 76,5603 * 198 » 52 3,982
o ANrEsedsd 76,5603 » 1 « 11 843
o Al2telagt
14,3502 * 30AI2F * 18 » 122 5,166
o REEYLY
76,5603 * 2.5 = 1H » 132 2,489
o Al 8,000& » 204! » 1& » 128 1,920
o S| 9,000 * 20& * 1H » 128 2,160
o PE2RH 50,000& * 1& * 12& 600
o Il=H| 50,000& * 13 50
0 MsAlE 38| 2fY 22,644
o JlE2g 73,2802 » 38 » 90 19,786
o =R 73,2808 » 3% » 13 2,858
201 B3| 183,200 154,200 29,000
01 AtR2teltl 24,000 9,000 15,000
0 LUABHI(GISHSZ, SHEZBUSAIL,
SHE2SE, EX7E) 12,000
o A8F Y 2,500,000& * 4=20| 10,000
o FAEZ FE 2,000
0 SaHISAIES 22l 28X Xt 12,000
02 2324| 159,200 145,200 14,000
0 2222 2 MAM(ctsHS2, sHE=SEH
SAY, SHE2SE, EX27E) 111,200
o MIRI 80,000
o MotrERs 2,500,000& = 12& 30,000
o SRS 100,000& = 12& 1,200
0 AIEZHIS I 48,000
o A= 2,000,000& * 12& 24,000
o TI|, AW H 42
(&1 1,500,000& * 12&) + (A 500,00 24,000
*128)
202 (44| 1,800 1,800 0
01 =LHOLI 1,800 1,800 0
0 =LHOLI 150,000 = 1€ » 123 1,800
206 =4I 50,000 30,000 20,000
01 Mzl 50,000 30,000 20,000
0 MAXCRE FA2el e+ 50,000
401 AIEHIZL 201 554,000 90,000 464,000
01 Al&Hl 554,000 90,000 464,000
0 MSAEE S& 2n2AE 2= 100,000
0 sl=ss42sd dJIHdsd
7,000,000& = 23| 14,000
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o
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M 2SS
M MSALB
&2 MSsAIEdE |X2 (=l &)
= - - PSlEl
S - B - S9(3H) - NRAY - BES o8y e HimEE)
0 otsH=s2 d2 & FJItEEE 20,000
o HUANFHZ 15,000,000& = 13 15,000
o FIIeHHEH 5,000,000& * 13 5,000
0 SE2SE Y2 (2T) HESA 30,000
0 ME&CRE 2elE Tl Xt 40,000
0 280 & =8 FH 50,000
0 S&2sZ ZH| 300,000
405 XHHF S| 160,000 0 160,000
01 TR ESFSHI 160,000 0 160,000
0 MAXMCRE 228 sI1H 7L 160,000
o SELCIZD) 80,000,000& * 1CH 80,000
o OFHl AIXD| 80,000,000 * 1CH 80,000
HSAE HE> 900,000 1,900,000 21,000,000
[ 200,000
J| 120,000
s 580,000
401 AIEHIZL 201 900,000 1,900,000 21,000,000
[ 200,000
J| 120,000
s 580,000
01 Al&Hl 900,000 1,900,000 21,000,000
0 St=SZ2LE2sE AN UMAIS 500,000
s 200,000
s 300,000
0 SE2 WE+AIS 300,000
| 90,000
i 210,000
0 HYMEXES3R HILIAT HEFALS 100,000
| 30,000
[ias 70,000
MEHSISR 222 347,596 165,306 182,290
101 @l24d| 102,99 71,406 31,590
04 JIZtH2Z2 R EE = 102,99 71,406 31,590
0 ST USHUEH=SEHIE 29,498
e Jleg 73,2803 * 1Y * 247 18,101
o FRdsld 73,2802 » 198 » 52 3,811
o Hilrasrd 73,2802 » 198 » 11 807
o FLI22+E
73,280& * 1.5 » 1% » 40 4,397
o REndsd
73,2803 * 2.5 = 1H » 132 2,382
0 &1 QICe| MEH=3R 29,498
o JlE2g 73,2803 * 1% » 247 18,101
o =R 73,2808 x 1% » 52 3,811
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2A:
X XH -
o=

=oak

S3HM=1
H=AlE22]
HEAEE FAl2

dET

SA - EH - SA(EH) - HIRAY - BAS 0f v e HIDS2
S R2RdsY
81,4902 * 2.5 * 5F + 13 13,243
o 2| 8,002 * 204l * 5% « 12 9,600
o DSAY N2
9,0002 * 5% * 202 + 12 10,800
o QREIDAL 50,0002 * 5% + 12 3,000
o T=t| 50,0002 * 5% + 13l 250
0 FUHSHE 2 22I(HE2, BAIR2I4) 2
= 181,553
o =2 73,2802 * 63 * 2472 108,601
o FRULY 73,2802 * 6% * 522 22,864
o BUARSTEYLY 73,280 * 6 « 112 4,837
o AZtelag
13,7402 * 16AI2F * 6% * 122 15,829
o REEULY
73,2802 * 2.5 * 63 * 132 14,290
o 2| 8,002 * 204l + 6% + 12 11,520
o D=t 2,302 * 6% * 202 + 12 3,312
o m=t| 50,0002 * 6% + 13l 300
0 BLHT 1Y 112,680
o =2 81,4902 * 2F * 2472 40,257
o FUIRLY
81,4902 * 1.5 + 2 * 1162 28,115
o JlZ4g 40,257,000 * 1/3 13,419
o FRULY 81,4902 * 2% + 522 8,475
o BURTEYLY 81,409 » 29 « 11 1,793
o AZtelag
15,2702 * 16AI2F * 2% * 122 5,864
o REEYLY
81,4021 * 2.5 * 23 » 132 5,207
o 24| 8,002 * 204l * 2 « 12 3,840
o D=t 9,0002 * 2% * 202 + 12 4,320
o ABIRLY 50,0002 * 2% + 122 1,200
o m=t| 50,0002 * 2% * 13l 100
201 k2| 217,920 215,920 2,000
01 Ak a2ly| 31,560 29,560 2,000
0 Yerst| 31,560
o ARE7Y 400,008 * 427 1,600
o HA8E 79 400,002 * 427 1,600
o HcEl 20,0002 * 427 800
o £YT WA TH2DE 7 1,000
o Z4I| wegE 50,0002 * 122 1,800
o Hibl AEE 280,0002! + 122 3,360
o IIFFI| wes 200,0002! * 122 2,400




2A:
X XH -
o=

=oak

S3HM=1
H=AlE22]
HEAEE FAl2

dET

SA - EH - SA(EH) - HIRAY - BAS 0f v e HIDS2
S HEUARE 7Y 200,008 * 122 2,400
o AREE Y 100,0008! * 122 1,200
o WAY J|IPARE 7Y
200,0002! * 122 2,400
o 4UH HNBE 7Y 2,000
o £WAN 248 600
o MUAYT P AS 89 442
400,002 * 62| 2,400
o AUAZH A U AS B 42
400,0002! * 33 1,200
o MUAYY BNYT HA U AS BY
a2 0,002 * 32 1,200
o NBIE SHUS W PeaaD
300,008 * 128 3,600
o 222 M 1,000,000 * 23] 2,000
02 2223 186,360 186,360 0
0 222 2 HAl 130,560
o @2 7,500,009 * 122 90,000
o Att4ze3 3,000,000 * 12% 36,000
o S4R3 160,000 * 122 1,920
o ROIABIAIAE 01823
220,002 * 122 2,640
REL] 20,000
o 223 S8 2,500,002 * 83| 20,000
0 AEEEISTYI 35,800
o A& 20,000
o AIAZ0I021 RXIZH2IHI 3,000
o B RN 400,000 * 122 4,800
o 4T 2X2l FX(CGIDAIL) RXIZ2H] 8,000
202 01t 7,200 7,200 0
ENEE 7,200 7,200 0
0 =LHOiHI 50,0009 * 4% + 122 7,200
206 W2l 13,450 13,450 0
01 24| 13,450 13,450 0
0 ZSIMSHE 01| HE 7L 13,450
o OIDW(AEE, SHE) 200,002 * 123] 2,400
o 43 7Y 7,000
o OMIEH PY(AH HA)  150,0002 * 53] 750
o MUSYE YAASOE 400,008 * 63 2,400
o MULYY Ha Y AS
300,002 * 32| 90
401 AlSHILL Y| 90,000 40,000 50,000
01 Al=g| 90,000 40,000 50,000




A SIS
FH: H=sAE2

&2 MSsAIEdE |X2 (=l &)
SN - ZE - SI(3) - HIRAY - BES ol &t o mE=S

0 =2HSHH JIAHLH 2= 90,000

o JIEEI gz 22l 20,000

o Sab 2 JIHA B3 At 30,000

o Al CHHAIAEN &2 20,000

o ZHIY s ADE ME SHAIAE 2= 20,000
N 2AHH| (2SS D) 32,440 28,300 4,140
Jl=&4 32,440 28,300 4,140
Jl2gdul(2stIS ) 32,440 28,300 4,140
201 LB 28,840 24,700 4,140
01 AR2teld| 28,840 24,700 4,140

0 =2 60,000& * 1182] 7,080

0 2M2Y LEt=EH| 560,000& * 16% 8,960

0 2N2Z =EHI 8,000& * 169 = 100 12,800
203 HRF4| 3,600 3,600 0
04 FN2ILRFAIHI 3,600 3,600 0

0 FNSY=EIHI 300,000& = 12& 3,600
Hees (23S 1,221,600 0 1,221,600
SBEXE(2HS1) 1,221,600 0 1,221,600
ANZHXSGNLI I SXL= Ol At 21,600 0 21,600
311 XS0l Arate 21,600 0 21,600
01 Al - 2 - XIS SRS 21,600 0 21,600

0 AE=OIE ZEAY XS 21,600
ANZHXGNLI I SAL = B=ssE 1,200,000 0 1,200,000
601 XL = =ate 1,200,000 0 1,200,000
01 Al - 2 - RXHIHEI SRS 1,200,000 0 1,200,000

0 AE=OIE ZEAMY XS 1,200,000




